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Setld : 47071_81 12Aug18_Batch4_D E
Section 1 - Paperl-General English

1) Choose the synonym of the given word:

Techofworld.In

A) adore
B) lure
C) hate
D) punish

2) Choose the right option to fill the blank:
The is available for purchase.

A) cite
B) slight
C) sight
D) site

3) Choose the correct answer:
The climate was and pleasant.

4) Choose the correct answer:
The little boy likes to caps.

A) where
B) wear
C) veer
D) were

5) Choose the right option to fill the blank:
The teacher did not recognize the student, for he
attended classes.

A) rarely

B) frequently
C) often
D)

Join Us-
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Section 2 - Paperl-Education and General Awareness

6) Which of the following thinkers authored the famous book
‘Education and the Significance of Life (1962)' ?

A) Plato

B) Pestalozzi

C) Jiddu Krishanmurthi
D) Rousseau Frobel

6) FERIBAINE F1IQ 694 TIPS 9de 929
FANGIGFA2E (R ¢99) QeR @R

A) Q6%

B) ecglemla
C) Fgdeqa
D) QealETIcam

7) Which of the following organizations was established by
the All India Council for Technical Education (AICTE) in 1994
and operated as an autonomous body since 20107

A) National Board of Accreditation

B) Jawahar Navodaya Vidyalaya

C) National Assessment and Accreditation Council
D) Universal Grants Commission

7) GORGe °ALER FUQ 6966 1994 AdR160 2n 982 KIeedn
TQ 60aARIR ¥g6aaR (WIedFa) TRl 958l QRSN e°
2010 aidg! 0l 99°4Id6 <°Ql VI6S QU4 9QE ?

A) QYRINIR 6919 2T 2IFEEEAR

B) GRI9Q 969190 SaMIRe,

C) IAGIR FCAEAL 8 2IFGI6EA] FIARTAR
D) ghedi gieq /adg

8) If 4 Rajya Sabha members have to be elected by the 60
MLAs in Tripura, how many votes are required by the
candidate to be declared as winner?

A) 13
B) 4
C) 16
D) 31

8) 9@ §gaI6a 60 @d QuIKGT FIal 4 F¢ AR A IS
62919 2183, 6069 G6e0l 6aITC 629 QIR QLG 6R6T 6RIQ
2GR ?

A) 13
B) 4
C) 16
D) 31

9) Which of the following can lead to hypertension?

A) Excessive intake of salt
B) Excessive intake of sugar
C) Deficiency of calcium

D) Deficiency of iron

9) FARYS FUIQ 6RRYIR ARVACSHAR 62NN ?

A) 2GRIQ pd HIRQ
B) 2oy 6F &lina|
C) fuIRdad 9 I
D) 69293 2RI

10) Which of the following detergents are sodium salts of
sulphonated long chain alcohols or hydrocarbons?

A) Amphoteric detergents
B) Cationic Detergents
C) Non-ionic Detergents
D) Anionic Detergents

10) GIRYE GOBE AR 6RRC INETIEREER 9t R
ZIRERIER &7 LIRETIRISAR 6AIFTAF QS 26T ?

A) ZIEFIETOR GTRERE
B) @I9106@ Goosad
C) 24- 21959 Foa6ae
D) 2ININee 0o6TS
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11) Which of the following constitutional bodies in India fixes
the limits or boundaries of the various assembly and Lok
Sabha constituencies based on a recent census?

A) Election Commission
B) Finance Commission
C) Delimitation Commission
D) Planning Commission

11) GRS AUQ QAUAGER 696 ARG APl F00 FRISR!
aRIGER G89 FUIRYEl B 6RISAEI FolReaRia A Fa
@BeER?

A) GRS 2GS

B) @& 2leaia

C) Qi FIRd 2IeRus
D) 6RISSI 2celd

12) The four pillars of learning were proposed by which of
the following commissions in 19967

A) Education Commission
B) Calcutta Commission
C) University Commission
D) Delors Commission

12) G96Q 966 ga e 09 Adelea FIAYS 69 BT FIal
gei8e 62IGgR

A) Gl 2lisglisl

B) QIRQIFl ZlI6uE!
C) S9aYIRE 2lsQll
D) 6@6RIQ ZI6RAG!

13) The Indian Institute of Teacher Education (lITE),
established in 2010 is a brainchild of

A) Smt. Mamata Banerjee
B) Shri. Rajiv Gandhi

C) Shri. Chandrababu Naidu
D) Shri. Narendra Modi

13) 2010 ¢dgice 9106 8217 QFEQS 2Y o 1gERL]
(2AIQ2IRFR) AR AINd AR 86E ?

A) €111 9901 QIRIFT
B) §1Qa1e QI

C) §1909919 9Iag
D) §1 9661 6711

14) P. Rama Rao was constituted in 1995 for the review of
postgraduate (PG) education in engineering and technology
in India. The committee recommended to increase the
duration of masters’ programme to:

A) 26 months
B) 24 months
C) 21 months
D) 28 months

14) QIQPER QFRAG° @ 66R6RIEAIER FIesaaa (GF) daia
QA8 QIR 19956 8. QUAll QI8 KFF 608 RRIAIRAYRI | 4G QFEF
AIRd 69Igic| @ 2] 6966 TLIS 9F FERIq QUIRQ KEERI ?

A) 26 QI
B) 24 i@
C) 2141Q
D) 28 €IQ
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Section 3 - Paperl-Reasoning

15) If JOKER is coded as SFLPK, then ACTOR will be coded
as

A) SPBDT
B) SPTBD
C) SPUDB
D) SUPBD

15) Q@ JOKER q SFLPK @69 601q 9@ QaIQIRE, 6069 ACTOR
QR 619 9D AT

A) SPBDT
B) SPTBD
C) SPUDB
D) SUPBD

16) First two words are related in a certain way. Similarly,
3rd and 4th are also related. Find the 4th word from the given
alternatives.

Steel : Plate :: Cotton : ?

A) Plug
B) Pot
C) Cloth
D) Jug

16) 92A 9R5 R 9@ FES 685G AYE 26T 1 AR RIS N I8°
¥e (11 A6 263 | g9R Sa8 AuQ 48 698 @6 23 |
QQIS : 697 = @l ?

A) 98
B) Qi@
C) «ugl
D) @q

17) If JACK is coded as K1D11, then DEER will be coded as

A) C5F18
B) E5F18
C) E5F19
D) C6F18

17) 9@ JACK g K1D11 ®I6% 60IQ 9% @aIdIeg, 6569 DEER @
Q94 6917 98 FUPe

A) C5F18
B) E5F18
C) E5F19
D) C6F18

18) P:Q=2:19and Q:R =38 :9, then PR is

A)5:9
B) 4:9
Gy 28
D)1:9

18) P:Q =2:1999° Q:R = 38 : 9, 6069 PR 62G&

A) 5:9
B) 4:9
Gy 2:9
D)1:9

19) What is the next number in the given series?
31,16, 49, 169, ?

19) g9 GF6Q QI LHIFFRQ RSN G 26 629 ?
31,16, 49, 169, ?
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20) If" You go " is coded as 12, " Let's go " is coded as 24,

then " Let's start" can be coded as
n 42 [echof

B) 47
C) 22
D) 41

20) 99 "You go " Q 12 QI6R, " Let's go " @ 24 QI6Q 6Q1Q 99
RALIAG, 606Q " Let's start” @ @93 617 98 KU

A

O @

) 42
) 47
) 22
D) 41
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Section 4 - Paperl-Teaching Aptitude

21) Who said " Education is the creation of a sound mind in
a sound body" ?

A) Shankaracharya
B) Aristotle

C) Guru Nanak

D) Plato

21) @4 QT26R, "8I 9@ 92 99106a 94 A8 98 Q6Q" ?

A) dFeIdy
B) 21068165
C) 9@ flea
D) 6s!

22) The final stage of need hierarchy according to Maslow is

A) Self worth

B) Self esteem

C) Self respect

D) Self actualization

22) (smis 2qdia] 6g419RC INEiIRoIa U QAT A4 86T
?

A) a7 A&
B) @Il 3919
C) 219 AR
D) &g QIL%!

23) The idea of value education can be traced back to the
teachings of

A) Rousseau

B) Shankaracharya
C) Gandhi

D) Aurobindo

23) mieeRl FAIQ SOIQ 919 AU6Q FIIQ AT FAIRAGRS ?

A) @6al

B) a&aioldy
C) QI

D) 2Q&e

24) The teacher in a clasroom takes care of students with
respect to all typical qualities. This means that they take care
of

A) individual differences
B) individual qualities
C) special qualities

D) universal qualities

24) 4918 Qéeal Qaq d9e 69419269 RIGRIGIKIAER L9
6RRCIE | 9219 217 69 6aQ 9 93 29 6eRelE ?

A) QY300 TR
B) Qu@ge eIl
C) Q688 geaal
D) QUae gaaal

25) During vedic period, students studied close to their
teachers in their school called

A) homestay
B) gurukuls
C) universities
D) hostels

25) 6060 JO6Q IRRIFIKIEE 6QfIea deew 480 G9g @6
ZRUINE PRSI SRR FE GRIAIN ?

A) glegy

B) q@gw

C) Q4G
D) g191R1d
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26) The best role for a teacher is as

) a manager

) an instructor
) an evaluator
)

A
B
c
D) a facilitator

26) S99 Qla AG6EA e 6208

A) dGciee
B) Genae
C) FRuIaaIal
D) 6giQieq

ae
@

27) Karan announced to his new class that his goal was to
maximize enjoymentand engagement through capturing the
interest of learners and inspiring them to continue learning.
He is adopting

A) Contextualization of learning

) Conventional method of teaching
) Socratic method of teaching

)

B
C
D) Gamification of learning

27) Q98 Gl 92l 6981aT60 6016 REM 6< Gl MAY 6208 Y@
A%l 6 Qe 2Ige 918l IRIg AFN FAIRS 8 620Ieg 938 SR
QYR 690E 699 | 64 28 FRBS

A) CI0Y9g QI el
B) dia#te dfIQe aad
C) 6959 & 91106 986
D) 9181 FIkIF6S Gl

28) According to Dewey, the method of teaching is

) problem-solving

) enquiry method

) audio-visual method
) experimental method

A
B
Cc
D

28) Gaaw 2gRIA), d81 JRIRa 98T Q¢ 26s ?

A) QeaQyl QAIRIG
B) dfie A5G

C) Qéa-gie 98
D) QI8¢ 968G

29) Which of the following is an example of formal agency of
education?

A) Library
B) School
C) Family
D) Theater

29) GREE F1IQ 6006 daIa ¢ AasIte Al ?

A) QRESAT
B) Savimel
C) 9RQIa
D) &eq

30) Woods' problem-solving model involves all of the
following EXCEPT

A) Think about it

B) Define the problem
C) Look front

D) Plan a solution

30) @@ & AAA-AFRIR FISENER IGER AP 6QEE QBTG AR
ag arg ?

A) 92| f9g6Q AT

B) QeQyiq 99geld @Ga!

C) a9 6gSl

D) QFQYl AAR6R 6LITR| ARSI
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Section 5 - Paperll-Odia Language

6Pl4 Q€ Q4 629IQ RN °Q ?

gl

32) 69U AIRINQ F6aWA ?

A) cEaQa

B) QEr 99
C) €0 @8
D) Qeal RIQ

33) ‘Y’'Q 696 € QRIAN ?

p) 2939 94

B) 26AINE Q4
C) Q@ Q€

p) @9 9€

34) ‘QUE’ 40Q 9690 A Qal

A) @@
B) a9
C) agela
D) @R

35) cae APQ ROINE AANCR AROR1 °TO 6LIRAVEC0 VI @’ QRAN ?

A) Q618
B) 2994
c) ACAIE
p) AR
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5 ‘cala 9096 aFQl’ 22 9K QQQI PEQ 696 eal

p 2568 0F 2lgca adol T e C

B) 210 a6t 9U&
209 A0I6Q S

C)
D) LPILIC 62l

37) 6966 GarR F6a8a ?

QIS1Ren 9L

A)
) eI €99
)
)

m

AQ 49
caf a9e

O

D

38) d8Q 210Q 94 UPIR6N | QUL A9 69U AR AFYS ?

59) ‘radl’ QEINER 698 S8d 949°?

Qo1
go1al

aeel
Qagal

pd

oo
S e,

C
D

e ‘CRURT COH URIRR 4R ?

WtsApp/Call- 8596976190
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41) 6QUC Qa2 A9 ?

A) ARG
0 ok Techofw
D; ARde

42) 2NN, QIVIQ, FAA AACA LW RAAT QUORE CRIQAN ?

A) a6
B) 7R
o) 98,
D) R

43 fRI Qfor 921§ 9K Q@ ?

A 2898
B SPPKR
c) Saee

D) 18iQ 6AE Q6e

44) ‘BNRR’ A0Q FAQI© AL €Q |

A) adiee
p) GRRe
c) RN
D) fiee

45) ‘97, ‘A9Q’, ‘ree 981’ AP RIRIKIEARIS XQ e QO 6QW|

A) 1024
g) Teq
c) 99eq
D) 9L\
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Section 6 - Paperll-Mathematics

48) x = 2 will satisfy the equation

46) x = 2 6@ AF11ead diel 92g ?

A) 2x-1=3
B) 3x-1=2
C) 3x+1=2
D) 2x+1=3

47) 6V3 and 2" can be represented as respectively

A) 816 and 81

B) V108 and 812
C) 81and 8

D) (81 }leﬂ- and 81.’24

47) 63 98" 2'8 @ Q2IFEF 690eR AUAIdE FAIYIRIIASR

) 8,1”6 and 81[4
) ¥108 and 824
) 81 and 8

)

A
B
c
D (81 }1#24 and 8”24

48) If a = 8x3, b = 2x3x5, ¢ = 3"x5 and LCM (ab,c) is
8x3%x5, then what is the value of 'n'?

A)
)
)
)

O O0Om
N B OW

48) 9@ a = 8x3, b = 2x3x5, ¢ = 3'x5 4&° A.ALY (a.b,c) 62af

Bx3%x5, 666Q 'n' @ (MY 696C ?

49) The price of an article is Rs. 180. It is sold with a discount
of 12.5%. The amount of discount is

49) 691N e gaY 180 @l 1921 12.5% QLI56a 5§ SaIoq,
6669 G7ACR 8 ARy 6a68 ?

50) Q@5 g9 IR QUReH AT 6.41.9 6208

A) 4
B) 8
C) 2
D) 6
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51) The number that must be added to each of 8, 11, 16, 21,
so that the last pair of numbers and first pair of numbers
would become in same ratio is

Soub
ok w

51) 8, 11, 16, 21 6Q g604aGE QTG FEe Q6T 6416 62Q1g 2al
6QE A, QIFI TREQ AR ATC 6RAIGI B YA SLAGI AR
FQUI6ER 629,012 6208

=2,
N oW

52) (7V2 +\3) x (7v2 - V3)

A) 93
B) 96
C) 95
D) 98

52) (742 +N3) x (742 -\3)

A) 93
B) 96
C) 95
D) 98

53) Which of the following is a non linear equation?

W

53) GRS FlAQ 696 Q87 QA1 ?
A) 3/x+5=0
B) 3x-8=7

C)y+2-z=0
D) x+3/x=4

54) Duplicate ratio of 3:5 is

A) 9:15
B) 27:125
C) 6:10
D) 9:25

54) 35 @ 9oQQ 89UIG 6268

A) 915
B) 27:125
C) 6:10
D) 9:25

55) If A is an external point of a circle, AP and AQ are two
tangents drawn from point A to the circle then

A) 2AP = AQ
B) AP =AQ
C) AP=2AQ
D) AP=3AQ

55) 9@ A 620@ 66154 9aQ QI2Y 99, AP 98° AQ 62083 9aF
Q46a% DL 98 98 A A9 &0, 6669

A) 2AP = AQ
B) AP =AQ
C) AP=2AQ
D) AP=3AQ

56) A circle touches all the 4 sides of a quadrilateral ABCD
with AB =6 cm, BC =7 cm, CD =4 cm. The length of AD is

A) 5cm
B) 2¢cm
C) 3cm
D) 4 cm
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56) 4@ 98 66IG 9ges ABCDA aAg 4 QIgq 94 @& 6290
AB=6cm, BC =7 cm, CD =4 cm. 696Q AD Q6344 6060

57) A quadrilateral is a parallelogram if one pair of opposite
sides are

only parallel
equally inclined
equal and parallel

A
B
c
D) equal only

— e S S

57) 4@ OCRF 6298 IR AL 685 U8 FURIG QIFA 631G
(g3l

A
B
Cc
D

Saagelalisialiey
QqIG @63 998
QaIR 6 AR
60Q% QAIR

— e

58) The smallest set A, such that A U {1,2}={1,2,3,5,9}, is

A) A= {3,5)

B) A={12,3}
C) A={13,9}
D) A= (3,59}

58) Y9671 649 A, 6090& @ A U {1,2} = {1,2,3,5.9}, 6208

A) A=[35}
B) A={123}
C) A={139)
D) A=(359}

59) Let U be a universal set with cardinality n(U) = 700
elements. If A and B are two exhaustive subsets of U such
that n(A) = 200, n(B) = 300 and n(ANB) =100, then (for '
denotes complement set) value of n(A'NB') is

A) 400
B) NOT possible to determine.
C) 600
D) 300

59) F6e @a U 6268 989 Q°§dl n(U) @ 9@ g4 629 = 700
QUQIR 196 A 9Q° B 0a 62998 U Q 9R6 a9gd @ 629 2819
n(A) = 200, n(B) = 300 9&° n(ANB) =100, 686 (' AIR YoR
629 @ 950 @6Q) n A gAY (ANB') 62@8

>

QGQl AaQ 62|

9]
mcnﬂOJh-

)
B)
)
)

w)

60) What is the interest amount |, if P = principal, R = rate of
interest and T = time period?

A) RT/M00
) PT/100
) PRT/M00
)

B
C
D) PR/100

60) Q! IRFIE | 6060 629, G P =R R=QI Q9 T =
AR 2GR ?

A) RT/100
B) PT/100
C) PRT/100
D) PR/100
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Section 7 - Paperll-Social Science

61) The provisions regarding the 'Protection of certain rights
regarding freedom of speech, etc.' are mentioned in which
Article of the Indian Constitution?

A) Article 21
B) Article 22
C) Article 19
D) Article 20

61) QIO ARUNS 68 AR " BN AUV AHAER
6600 ZRIRIQ" ARSI YINUIKAIR QE] ?

A) Q121
B) QI 22
C) el 19
D) a1 20

62) Which of the following agitations was started by the
sharecroppers in Bengal by the Kisan Sabha in 1946-477

A) Bardoli movement
B) Kheda movement
C) Tebhaga movement
D) Moplah movement

62) ARG kI 6% 2CRINGT 1946-4703TI60 FAR ARl
2126168 CEAMLE QISRISINIRE FIal 2IRa 6218l ?

A) Q6917 ZlERIRE
B) 681QI 2I6RIGE
C) 6595l 26Q1Ra
D) 67IQ 2I6RIRA

63) In vedic age, the marriage between woman from a higher
varna with a man from a lower varna was called:

A) Krantiloma
B) Varnaloma
C) Pratiloma
D) Anuloma

63) 630 460, A994a 964 79RI 8 70 9da 964 JoST AR
QQILQ GLRIKIQLRI:

64) To achieve sustainable development which of the
following strategies should be adopted?
(i) Use of non-conventional sources of energy

(i) Use of CNG in urban areas

(iii) Bio- conserving

A) Only (iii)

B) Only (i)

C) Only (i) and (iii)
D) (i), (ii) and (iii)

64) Gogigl G918 U AR F6Ie A9 QUL FISRGR K6S
28R ?
i) SQURFHIER IFRIR SRR

i) A2QIERER d ¥q & eLIR KRR

iil) 659 <088

A) 6295 (iii)

B) 6aa% (i)

C) 6aa% (i) <9e" (iii)
)

D) (i), (ii) < i)

65) Which of the following varnas in Hinduism is considered
as a productive class involved in craft and trading?

A) Vaishyas
B) Brahmins
C) Shudras
D) Kshtriyas
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65) @qudea FORYe cae 9dfq 98 8 TR FPYS AYILR
69611 TAIRER TR ARG ?

A) 654
B) qIgd
C) g2
D) 9g12

66) What is the value of Prime Meridian?

A) 66 degree latitude
B) 0 degree longitude
C) 90 degree longitude
D) 180 degree latitude

66) gInf] 6183 Q FImY 6966 ?

A) 66 g1 aa4re
B) 0 @gngids

C) 90 @g1pi@eal
D) 180 @gieiayied

67) Which of the following factions of INC that emerged out
of differences in ideas was known as 'Garam Dal'?

A) Revolutionaries
B) Idealists

C) Moderates

D) Extremists

67) F67I8 FUQ 696 @R, AIGGIA FIS1A §°6gd @ AR AR
6419 FIC 2RI I9° "FA9 9F" FIF6Q AGTE 62 ?

A) QIEQIa1
B) Qa1
C) QQIeaal
D) Safoa

68) The provisions under which of the following
Fundamental Rights provides details of 'Abolition of Titles'?

A) Cultural and Educational Rights
) Right to Freedom

) Right against exploitation

)

B
Cc
D) Right to Equality

68) 6(IAR AYRIAR 694 QIQAI , AARY/ TNV AGAF TTA6
Qge Gaaen G4 ?

A) Qe e JAIGS 2RI
B) IRIINRIA 2RI

C) 64188 GQEEQ 2RI
D) QAIGSIR 2RI

69) The line separating day and night is called:

A) Terminator
B) llluminator
C) Mohorovicic boundary
D) Light zone

69) 30 19° AIG] ARG FRESI 6aHIQ AN

A) Q6N
B) Zl6RIQIg!
C) sql6gisal@dia Qiel
D) 2leI@ 5@

70) Which among the following states in India have a
bicameral Legislature?

A) Rajasthan

) Madhya Pradesh
) Gujarat

)

B
C
D) Andhra Pradesh

70) Q1900 FIAYE 674 QIRIEA QR A9R1EA FuIRAR S1edl 0F8
e

A) QIREIQ
B) ¢12l 964l
C) qeale

)

D) @I§gead
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71) Which Schedule of the Indian Constitution consists of 29
subjects on which the Panchayats shall have administrative
Control?

A) 10 th schedule
B) 12 th schedule
C) 11 th schedule
D) 9 th schedule

71) Q91D AARIIEA 694 AYYPER 296 Faa 98 6aWZER
AQIAEYERR EIFATe Faad 08 ?

A) 2999110
B) 2gge112
C) agqe1 11
D) 2gge19

72) What is the chemical composition of the outer core of the
earth?

A) Silca and Aluminium
B) Silca and Magnesium
C) Iron and Nickel

D) Iron and Aluminium

72) 92Q10 "I - 6R1Q" AR "QIRY - 6ALIEG"6Q 699 AUAXFR
§iga arg ?

A) Rl 9e° 2IgaFen
B) d@al 9e° cuisadee
C) 6nle 9e° feam

D) emle 9 apddaa

73) Which of the following zones lie between the tropics and
the 66.5 degree latitudes in the northern and southern
hemispheres?

A) Temperate zone
B) Polar zone
C) Torrid zone
D) Black zone

WtsApp/Call- 8596976190

73) 565118 699 257, 913604 9° Qe G2l 984 6TIRINEa 66.5
@1 2AlE F12160 UQER ?

A) RIGE16RI6018 28R
B) 6719 28R
C) g8 28R
D) @8 28R

74) The cell formed by westerly wind along with subtropical
high and sub polar low pressure belt is known as:

) Ferrel cell
) Hadley cell
) Polar cell
)

A
B
C
D) Convection cell

74) 98I QIg 910! @Y IB1G FROIT Ye° AYIA 2AER6R FAR
6292/91 69R, A FI¢

A) TERm Q 69N
B) @l 64m

C) 6aIRIG 69R
D) @9609R 64

75) Chipko movement is the BEST example of conservation
of which of the following natural resources?

) Turtles
) Rivers
) Trees
)

A
B
c
D) Tigers

75) 9G F11Q 694 geoe AAea Ml IR 569 2IGRINE AR
QQILRE 26T ?
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Section 8 - Paperll-Science

76) Mass of a body into acceleration is

A) displacement
B) power

C) force

D) momentum

76) @gQ 9gQ 969 Qa8 AR

77) A container has 20.0 L Nitrogen at 2.5 atm pressure, and
another container has 10.0 L of oxygen at 2.0 atm pressure.
Temperature of both gases is 300K. If both of them are
mixed in a 15 lit container, what will be total pressure and
partial pressure of oxygen, respectively in the container, at
300K temp?

A) 4.72 atm and 1.44 atm

)

) 4.68 atm and 1.34 atm
) 4.39 atm and 1.76 atm
)

B
G
D) 4.50 atm and 2.0 atm

77) 6615 @966006Q 2.5 atm @166 20.0 L A9RAIQFIR, \99° &Iy
601N @°669Q6Q 2.0 atm 91969 10.0 L &¢918 28 | 9@ SuIq
Q QIAAIGl 300K | 98 Q@9q 9@ 15 AR 99650 fdIR
QUK 6262 300K GIANIGIEE QAIGEN ACRIAQ 62T G 2IPaa
QId 6960 689 7

A) 472 atm 99° 1.44 atm
B) 4.68 atm ¥e@° 1.34 atm
C) 4.39 atm <99° 1.76 atm
D) 450 atm 9Q° 2.0 atm

78) Which of the following CORRECTLY define 'matter'?

A) Matter can neither be created nor destroyed

B) Weight of a matter remains constant throughout the
universe

C) Matter can be converted from one form to other causing
any loss to it

D) Any thing that has weight and occupies space is a
matter

78) 6B AUQ 6206 '9ga A0R A€ F6a ?

A) 929 98 @9l 4°d QTR AR F1F

B) 1a@ Qg0 88% dIal 8960 §0 a2

C) Qg 92l 9F 6916d 8% @ L8R 6915 29919 2k 98
2QAIQ UGLRG 621RA6Q

D) 64 66163 G568 QI2IQ Be9 28 9e° G121 AR AILAS Q6Q
QIIg 9 QRICIN

79) A substance which kills or inhibits the growth of other
microorganisms is known as

A) antibiotic
B) antigen

C) pathogen
D) allergen

79) 204 GRSIRAINER 269 @98 KRR AT @8 QRIAN
?

A) AEQ6ATR
B) 2186ee

C) aiealeas
D) 2RSSR

80) Which of the following is an example of molecular solids?

A) Ice

B) Silica

C) Sodium chloride
D) Diamond
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80) G69Ia F12I9 6R9e R0R UENTR 1@ AL ?

m >

Cc
D

) Q8
) 51”
) 6@ mq 6RISIRR
) 2R

81) Which of the following is an example of prop roots?

A) Sweet potato
B) Turnip
C) Banyan tree
D) Vanda

81) T67)I8 FlaQ) 6R9G 92 P9 AL AT 7

A) ol EIIE_Q/QQGL%‘
5

oY)
:EDLO

)
)
C)e
) @

=}

82) Water gas is a mixture of carbon monoxide and

) oxygen
) nitrogen

) carbon dioxide
)

A
B
C
D) hydrogen

82) G916 QI 6268 FI9R F6RIRAIRR IR° --—-Q 9@ 154

A) ZFRIR
B) Jegiaqie
C) ZeIQRIe,
D) @9qia

83) The chemical name for quicklime is

Sulfur dioxide
Calcium hydroxide
Carbonic acid

A
B
C
D) Calcium oxide

)
)
)
)

83) daQRa QIAILER FIAIS @6l

A) ATQ FIRAFING

B) f4ndgr 296819108
C) QAR 13Q

D) @YnQee 29Iee

84) Which of the following statements is CORRECT with
respect to prokaryotes?

A) No membrane bound organelles are found in the
prokaryotes

B) Membrane bound organelles are found in the
prokaryotes

C) Cells of the prokaryotes have 80S ribosome

D) Cells of the prokaryotes have true membrane bound
nucleus

84) B64II8 FIIQ 6896 TIR FYA1D AQN6a OR ?7?

A) g1 FY819 6RI96a 6@I6Id SRl 219 2Eal @ &g
B) 9If SY91% 621960 6@ 1 2198 2GR 2l
C) 9Iq f4818 691960 80S S6R16QIF &N

D) gIf fua1a 691868 9o ER1 2Iea Q4& 2

85) The energy that is most likely to be possessed by the
water that is stored in huge tank is

A) potential energy
B) electrical energy
C) sound energy
D) kinetic energy

5) 99 920 S 112160 RS AIGER A9 93 62RE
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86) A rifle fires a bullet of mass 25 g with a velocity 1600 m/s.
The man holding it can exert a maximum force of 160 N on
the gun. How many bullets can he fire per second at the
most?

A) 4
B) 5
C) 3
D) 2

86) Y@ 99 25 g 8eaa 4@ 9@g 1600 m/s 9Q6Q96a gE |
2lg UGAQ @48 Q9@ @96a 160 N @ a9Ra 9F geald
RAAIGER | 6d6ad g0 626015 QF 9 ARG ?

A) 4
B) 5
C) 3
D) 2

87) A genophore mainly consists of

A) carbohydrates
B) lipids

C) proteins

D) genetic material

87) 42 "6R6RI6TIR" A9 §l0l 900 62IReIN , 12| 62! ;

A) 9aQl
B) @G],
C) 6915]
D) 2Ige"da ANG/QAIQIe

88) Vascular bundles in the monocot stem are

A) closed and scattered

B) closed and arranged in a ring
C) open and scattered

D) open and arranged in a ring

88) I@Q1F KIL6R AV TFR YP@ FCq 2T

A) 2198 9e° G8g

B) 2Ie® 9e° 69INRINEa 2SWS
C) 98 9e° Q89

D) ¢8 9° 65IRININSA 2ASEE

89) Nitrogen fixation is a process by which nitrogen in the
Earth's atmosphere is converted into

A) sulphate
B) phosphate
C) ammonia
D) sulphide

89) FIREEIERR T6TAR IR GFD , 60626R YlR1R |l A9
6RI9Q O5RAe 62102 SITI 58RI

A) 9 6T
B) @69%

C) <saIGel
D) an CRg

90) Untreated sewage discharged in water body leads to

) pollution but does not result in water-borne diseases
) clean environment around the dwellings

) pollution and increase in water-borne diseases

D) pollution and increase in air-borne diseases

A
B
o

90) 2919aAUQe Jf aF QagFasa fdal Il

A) 99848 93 @GaN, §g SRQIEE 6919 @GR
B) QAL FQ06a AR6QHq QEIR @GR

C) 9984 98 aael A2 ARAIEe 6aId 98 @fel
D) 9984 98 @t2N, @ QIgRITE 6aI9 @dEld
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Question Paper No: 47071 81
Answer Key
1: C 31.B 61.C
2. 1332 B 626
3. D 33.D 63.C
4. B 34.A 64.D
5. A 35.A 65. A -I
b. (€ 36.C 66.B
7. A 37.B 67.D
8. A 38.B 68.D
9. A 39.B 69. A
10. D 40.C 70.D
11.C 41.C 71.C
12.D 42.B 72.C
13.D 43. A 73. A
14.C 44.B 74. A
15.C 45.B 75.C
16.C 46. A 76.C
17.B 47.B 77.B
18. B 48.D 78.D
19.A 49.A 79. A
20. B 50.C 80. A
21.B 81, B 8§1.C
22.D 52.C 82.D
23.C 53.D 8%
24. A 54.D 84. A
25.B 55.B 85. A
26.D 56.C 86. A
2740, STHCS87. D
28. A 58.D 88. A
29.B 59.D 89.C
30.C 60.C 90.C
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